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X s
B, E |18, 5 115 4225
(B) 18 B, G |18, 8 13 25
(E) 5 B, A |18, 3 105  56.25
(©) 8 B, | |18, 5 115| 4225
(A) 3 B, F |18, 6 12 36
() 5 E, G| 5, 8 65 225
(F) 6 E, A| 5, 3 4 1
E, | 5,5 5 0
E, F| 5, 6 55 0.25
G, Al 8,3 55 6.25
G, 1 | 8,5 65 225
G, F| 8, 6 7 1
A, 1 | 3,5 4 1
A, F| 3,6 45 225
I, F| 5, 6 55 0.25

_18+5+8+3+5+6 45 _
6 6

7.5

2 (18-7.5%+(5-75) +(8-7.5"+(3-75) +(5-7.5" +(6-7.5)" _1455

—24.25
6
X s?
— — _ 1% f. f g2
XI fl fi Xi fl XI : —
0 1 0
4 2 8 32 0.25 2 05
45 1 45 2025 1 3 3
5 1 5 25 2.25 3 6.75
55 3 165 9075 6.95 1 6.25
6.5 2 13 84.5 o5 1 o5
! 1 / 49 36 1 36
105 1 105 11025 4295 5 845
115 2 23| 2645 56.25 1| 5625
12 1 12 144 Tol 21825
13 1 13 169
15| 1125] 98925

(1) E(X)=112.5+ 15=7.5
(2) V(X) = 989.25 = 15 — (7.5)% = 9.7

@  EX)=
V(X) # 0o?

N-no? 6-22425 97

V (X)= g -
=N Tn 61 5 10

9.7




